Slope = Rise ~ Vertical Change  AY _ y2-VYi
Run  Horizontal Change =~ AXx X2 -Xi

You should give slope as an integer or a fraction in

reduced form.
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Rate of Change = —————  Slope with units
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You should give rate of change as an integer
or a decimal with units
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Bellwork  Monday, February 24, 2014

For 1 and 2 state the rate of change.

Sec 6-4. Point-Slope Form
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y - Y1 =(M(x - X1)
S/D;DQ

If m is the slope of a line and (x4, y,) is a point on the ling,
then the equation of the line in Point-Slope Form is:
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3. Write the equation of the line passing through 4. Write the equation of the line in Point-Slope Form.
the given two points in Point-Slope Form.
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